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| What is the general term for @ ubstance dissolved in water?

@ covalent substance
® aqueous solution
@ ionic san

@ water solution



w—

Total questions in exam: 40 | Answered: 0

Question No. 1

oride (SiCly) is treated with 20.0 g of water

In an experiment, 50.0 g of silicon tetrachl
balanced equation:

to produce silicon dioxide (Si0O») according to the following

SiClys) + 2H20q) — Si0y) + 4HClgg

The limiting reactant for the above experiment is:

SiCly
S10»
H,O

HCl
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Question No. 6

Which of the following solutions is the most basic?

[H307] = 1.0 1019 M
[OH| = 1.0 x 10-10 M
[OH] < 1.0 2 1010 M
[H:0°]> 1.0 ¥ 107 M
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Questlon No. 3

What js the Name of this Compounge

O

(

yClohexane
Cyclopentane
Cyclooctane

cloheptane
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Question No. 1

What is the molecular formulaofa compound that has a molar mass of 116 g/mol and its
empirical formulais CoHs?

CegHis
CaHs

CsHao
CsHao
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Question No. 4

10 Man Cha

TActarstic of all weak electrolvte solutions s that they

do not

CORAUCT electiicity

vampetely lonize in aqueous solutions

LUIRS0IVe In watel

WY ONEe I agqueous foltions
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Question No. 5

The molarity (M) of an aqueous solution containing 22.5 g of sucrose (C12H. 22011) n
35.5 mL of solution is
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Question No. 6

How many grams of CO; could be produced when 44 grams of CyH;COOH completely
react with oxygen gas according to the reaction?
CiH)COOH + 50; =+ 4CO; + 4H,0

a4 4
224
195 9
i g

—
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Question No, 7

The compound NH; can be described as

Bronsted-Lowry acid
Arrhenius acid
"I'/I’l Yl'l',"

ewis acid
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Question No. 9

Calculate the volume (in liter) of a solution that contains 3.12 moles of NaCl if the molarity of this solution is 6 67 M NacCl

2823 L
2141 L
0.208 L

0.468 L

- o b |




Question No. 10

Choose the correct name for the following compound:

Br CH,

CH,

1.2-din ethylbenzene
1.2-dimethy Icy Clohexane

Mmetly ltoluene

Iimethy|c

YClohexane




Question No. 11
In the “Basic” solutions,

pPH <7 and [H3;0%]
pH =7 and [H;O"]
pH>7 and [H;0%]

pH > 7 and [H3O"]

10
10
10

10

'M
'M

M

'M
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Question No, 17

In the reaction below, what is the theoretical yield in moles for NO when 5 moles of
Ny react with 7 moles of O,?

A NH; + 50 = 4 NO + 6 H0

3.6 mol

2 4 mol




Question No. 12

Name the following organic compound:

4-ethyl-3-methyleneheptane
2 .3-diethyl-1-hexene
2 .3-diethyl-1-hexyne

2-ethyl-3-propyl-1-pentene

N
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Question No. 15

Provide the name of the compound below.

2 3-dimethyl-1-hexene

2 3-dimethyl-2-hexene
4.5-dimethyl-5-hexene

4.5-dimethyl-6-hexene




R RRRRRRRRRRRC———===———————,

Total questions in exam: 40 | Answered: 13

Question No. 12

The reaction for the decomposition of PCI; to chlorine and PCL, is shownbelow.
PCl; (s) = PCl, (g) + Cl(g)

If the equilibrium concentrations are [PCL] = 1.0 M, [PCL,] = 1.0 M. [CL]=0.10M,

what is the value of the equilibrium constant?

Ke=1.0% 10°
Ke=1.0%107
Ke=1.0x10"
Ke=1.0x10"




Question No, 18

Consider the reaction: 2 80x(g) + Oxg) «» 2 804(g)

If, at equilibrium at a certain temperature, [S0O,]

wht is the value of the equilibrium constant Keq?

014
694

079

B 6H L

1.50 M, [04]

0.120 M, and [SO3] =1.25 M,







Question No. 18

What is the correct systematic name of the following compound?
CH,

hvk L-heplyne
\ X\
X\
\ SN\
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Question No. 27

 After a chemical reaction reaches equilibrium,

' ) The amount of products is decreasing.

() The amount of products is increasing.
() The amount of reactants and products are constant.
) The amount of reactants and products are equal.
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Question No. 25

What is the term for the pairs of valence electrons that are not shared in a molecule?

core electrons
bonding electrons
lone pairs of electrons

sharing electrons
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Question No. § User BO400SIST

Consider the following reaction at equilibrium, decreasing the pressure will
2502(g) + O2A8) + 2503(g)

Ba
=]
23

(E]ale] ]
BEEBEn
gaeaR

i
=
1]
2]
=

4] )
(8] =] %] <)
[4]s]v]5]




Question No. 26
The mass percent composition of sulfur in HaS is:
v
22 7%

94 1%
5.9%

31 ax\ao ,QL/ l//}
Val




Question No. 20

Calculate the mass of 500 atoms of iron (Fe).

56 g Fe

6.02 x 102 g Fe
122 gFe

4.64x 10 g Fe




IUPAC name of this com PO

pound?
CH,CH.
CH;CH,CHCH,CHCH
CH-CH(
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Question No. 34

What is the correct equilibrium constant expression for the following reaction?

2 Cu(s) + 0x(g) — 2 CuO(s)

Keq = [CuO?/ [©2]

Keq = [CuO)?/ [Cu[O2]
Keq=1/[07]

Keq = [02]
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Question No. 12

©aning solution has a PH =13, this solution Is

[y
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Question No. 32

Which of the following pairs is NOT a conjugate acid-base pair according to the concept of Bronsted-Lowry?

H3PO4 and HPO4*~
H3PO4 and H.PO4+
H,PO4 and HPOs>~
HPO.2and POs*
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Question No. 22
The name of the chemical compound CuxCOs is:

copper(ll) carbonate
copper(lll) carbonate
copper(l) carbonate

copper carbonate
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Question No. §

What Is the chemical formula of the product formed by the reaction between aluminum and oxygen?

" AlO
ALO;
ALO;
Al;O

) 1
/A\\ [ — /‘\\903

@

Save & Next i, ks
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Question No. 5

What is the term for the concentration expression that relates the moles of solute dissolved in each liter ¢

molarity (M)

mass/mass percent (m/m %)
molality (m)

parts per million (ppm)

Save & Next i, b



Question No. 38

What are the correct coetlicients needed to balance the reaction below?
NaHy + Ha0p — N2 T H20




Question No 38
Which of the following is the electron dot formula (Lewis structure) for an atom of
mmlm‘

@ 0 {b) O © -0 (d 0°
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| Conslider the Tollowing renction ut cquitibrium. What is the offect of reducing the volume on the system?

Xe(g) + 2 Fap) o Xer W

0T 100 Wl il s e ot 4y (e

* VI SRR ot w
L™ et ved)

Hoctoane

n

oles of V3O are mixed with 10 moles of Ca, which is the limiting reactant
» the above equation?




Question No. 13

Which of the following pairs of systematic names and common names s correctly matching?

© tolene = hydroxybenzene
© aniline = ammobenzene
© acetylene = ethene

© phenol = methylbenzene

 Save & Next




Question No. 12

Provide the name of the compound below.

O methylcyclohexane
© ethylcyclopentane
@ methylcyclopentane

© methylcyclopropane

Scientific Calculator

M
Mod | g1Deg | Rad M( N
sinh cosh | tanh Exp ( )
sinh' | [cosh'| tanh' | l0g,X In log [
n e n! log,x eX 10* 1

sin tan XY X X 1
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© nydrogen promate
@ hydrogen bromine
@ nydrobromic

© nydrogen bromiie

: question No- 4
Express the equilibrivm constant for the following reaction.
H2@® B@® < 2 HB
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Question No. 18

What is the molecular formulaofa compound that has a molar mass of 180 g/mol and its
empirical formulais CHO?
“CHO;
= CqHsO4
CsHwOs
< CeHnOs
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Irmmfin_ No. 10
i‘ Accprdng to Broosted-Lowry deintion, wich icd 1§ incotrectly matcned wiih 4 conpigate base? (A 7 conjugite Base)
® HEOy /€05
® H;F* /HF
© HO' /O
@ Hel/cr




\

| Question No. 4

\

: What is the name of the following compound?

—

) 4-ethyl-4-hexene

(' 3-methylenehexane
0 3-methyl-3-hexene
3-methyl-2-hexene
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Question No. 1

.
[}

An aqueous solution of S considered as st
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) Question No. 7

l Identify the Bronsted-Lowry conjugate acid in the following reaction.
| H,0 + €O" — HCO, + OH"

Y HO

© oH"

'@ Heo,

o 2-
Co,

Save & Next Ll
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lonic bond i T
© electrovalent bond

e
© nonpolar covalent bond £
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Question No. 16

How many grams of NaCl are there in 55.0 mL of a 1.90 M aqueous solution of NaCI?

© 0.105
© 321
© 122
@ 611




Question No. 30

Which of the following is a general property of an acidic solution?

tastes sour

turns litmus paper to red
pH is less than 7

all are correct




Question No. 25

What is the molecular formulaofa compound that has a molar mass of68 g/mol and its
empirical formulais HO?

' HhO
H;O3
H404
HyO4




Question No. 28

What is the family of this organic compound?

0
Il

CH3-CH>-C-H

aldehyde
ketone
carboxylic acid
ester
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Question No. 36

If the reaction is endothermic, which of the following is always true?

© the reaction rate is fast

© the reaction takes in heat
© the reaction gives out heat
© the reaction rate is slow




Question No 22

Whath Of these Organk mPOUnds n

CyHy
CH;OH
CH,
CsHyp
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Question No. 11

What mass (g) of NaBr is contained in 0.25 L of a sodium bromide solution that has a molarity of 1.20 M?

@ 2329
© 3099
@ a73g
© 4939
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Question No. 33

The oxidation number of 10dine in K104 18




Question No. 12

In the following reaction, whatis the effect on the direction of the reaction if more SO;
is added to the reaction mixture?

250, (g) + O, (g) = 2S0; (8)

®

The equilibrium shifts to produce more products.
The rate of formation of products is increased

@

')

The position of the equilibrium remains unchanged

¥ The equilibrium shifts to produce more reactants







Question No. 27

Refer to the equilibrium shown below. Which of the following will shift the reaction to the
right?

1 CHy () + 202 (8) = CO2 (g) + 2H20 (2)

@ adding excess oxygen

@ increasing the pressure
& removing carbon dioxide as soon as it is formed
¥ adding O; and removing CO,
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| Question No. 12

Calculate the mass percent composition o!'pjgmh_oggisinK,‘sPO.‘.
i
1@ 302 %

®26.75%
0 55 3 o

Il
il

19 146%

© 00 o
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Question No. 15

f
Provide the name of the campound below

L "

23 mmfsmyl»b—pemyne

34 dimethyl4-pantyne
23 dimethyl-d-pentyr.

E

5]

¥ 34 —dcmeﬂlyl-z-pmm ne g
]

55 ]

E
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‘ Question No. 21

I How many moles of ces
IH

il

lum (Cs) are contained i 595 kg of césium?.
il

26 % 103 moles Cs i i
i 9448 x 103 moles Cs il
{901 104 moles Cs

|
1™02.23 x 102 moles Cs
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| Question No. 23

| What is the coefficient of chlorine gas afte

r balancing the following equation?
Fe(s) + _ Cla(g) — FeCl3(s)

Save & Next 13, b
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Question No. 24

The reaction that requires thermaj energy to proceed is known as 3 reaction

© oxidation

b endolnem!p;
9 isothermic.

exotnqimc
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Question No. 35

The combustion of ammonia in the presence of excess oxygen yields NO; and HyO:
4NH3(g) + 702(g) — 4 NO (8) + 6 HyO (g)

The combustion of 43.9 g of ammonia produces g of NO;,.

439
w258

119

178
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Question NO 28
240mL of AM H,SO4 Was dilutedtoa Number of questio

f H,5(¢ )".u\\lhun,if

is the final molarity o

What
f0.517

final volume o

naEM

1920
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Question No. 20

In an oxidation-reduction reaction, the reduce

*d substance always

shows gain of electrons
takes on oxygen atoms
gives up hydrogen atoms

shows 10ss of electrons.
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Question No. 26

The systematic name for the chemical com poundNa;S is:

< sodium sulfide
sodium(l) sulfide
sodium(il) sulfide
sodium monosulfige




